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Unit 5 day 5: Writing Polynomial Functions Period I Date

Write a polynomial function of least degree that has rational coefficients, a leading cocfficient of 1 and

the given zeros.
. x=3x=2 2. x=2,x= -2 3. x=+5x=-+5
Y=o x-2X x-2) gzau-‘/z.d(x%—l‘) Y=a (x-TE YR 4E )
2
Y=o x ~5x ) Yz o C2x-1 Xt 2) Yz oo (r*-2)
3:&()(?"—‘3/*1'@) Y= O (2x 42X -1) o.% |
o=l Le, o b azY
| t ;,':L go 2 yz NS
Y= X > 5x+0b Y=Y2(z2x*42x-2)
Uz xS0 -] ,
4, x=3i,x=-3i 5. x=3,x= —-2,x=5 6.x=§,x=6,x=—2
Uz oo (x-30Y X6 30) Lﬁﬁ@._(xwa‘)(.xn)(v@ 5:&(#’#3}(}-@(“@
Yz a ( x249) Y =a (em) % 2-2% - 10) Y=a Can-2 ) A Ar2)
= o0 (g3 pyte0x 20 (ax-2 ) x4 x-i2)
o=l ) fg;«"- XO % +30) J
Y= x*+9

Yea (2m*12x% 30

kj: o ( Ka“’{gxlw}’(,¥"3o\) -2n? 8% *Z—Lh

az=l \j" o, (3){3'\%{7‘- Z%X’fﬁ)
i
a.=
Yz 23 px Pox 130 :
Y= 1 -ty 2ty 48
3 3
7. x=2+ix=2—1i 8. x=—-1,x=4,x=9 9. x =+7,x=—/7 .
Y=a (x-2-Y X -241) Y=a (raD(x-uY-a) 3=&LX*\J"1\)(K”\H)
- 2 2 -
U= a (x? 2% 4% , H=a e “-1a % + 3b) ’\j;a (2 %-1)
- ixﬂl ;2‘ ) H:Q(xg‘ﬁxl’r%x a.= |
- -
XZ 3% +30) U - xz_w’
Y=a lx®ouy 4y -i*) J =

3
Y=a CX 7 2x®h 23 x +20)

Lﬁ = (‘_)g?“ft,t}! 4"% *.“) a1\
yra Cx?ovy Ty Y= xP-12xTe23x 43
) a =\

g= % Tl




Write the equation for the polynomial with the given roots and y-intercept. o=
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Write the equation for the given polynomial.
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State the degree of the polynomial. Describe the end behavior of the graph of the polynomial function

WITHOUT graphing,.
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